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Addition
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using number line
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Example:1  Add:2+3

Draw a number line starts from O

REREEEREEREEREE

O 1 2 3 4 5 6
Now mark 2 on the number line

D S S S S A R
O 1 2 3 4 5 6

Then move 3 steps forward from 2

A

v
4567

\_ Now you reached 5.S0,2 +3=5

/Example :2 Add:13+6

Draw a number line starts from 10

R R
10 11 12 13 14 15 16 17 18

Now mark 13 on the number line

D L A
10 11 12 13 14 15 16 17 18 19

Then move 6 steps forward from 13

BVAVAVATAVAY .

19 20

Now you reached 19.So, 13+ 6 =19.




Example:3  Add:26+2
Draw a number line starts from 20

D S A A A
20 21 22 23 24 25 26 27

Now mark 26 on the number line

DI S A A A A
20 21 22 23 24 25 26 27

Then move 2 steps forward from 26

R {\/\I

20 21 22 27 28
Now you reached 28. So, 26 + 2 = 28.

o
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Example:4 Add:45+8
Draw a number line starts from 45

D S S A A A
45 46 47 48 49 50 51 52 53 54 55

Now mark 45 on the number line

Dt A A A A A
45 46 47 48 49 50 51 52 53 54 55

Then move 8 steps forward from 45

MMA [6\/1\/5y,

7 48 49 50 51 52 53 54 55

Now you reached 53. S0, 45+ 8 =53




Example:5 Add:71+4

Draw a number line starts from 70

R R
70 71 72 73 74 75 76 77 78

Now mark 71 on the number line

D A S A A A A A A
70 71 72 73 74 75 76 77 78

Then move 4 steps forward from 71

I/\lz BJ/\I

73 74 75 76 77
Now you reached 75.So, 71 +4 =75

o
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Example: 6  Add:87+9
Draw a number line starts from 87

D A A
87 8 8 90 91 92 93 94 95 96 97

Now mark 87 on the number line

Dt A A A A A
87 88 8 90 91 92 93 94 95 96 97

Then move 9 steps forward from 87

MMAG 7M -

90 91 93 94 9 9% 97

Now you reached 96. So, 87 + 9 =96
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